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If the amount received at the end of the 3rd and the 4th year at compound
iInterest on a certain principal is Rs.19,800 and Rs.21,384 respectively, then
what is the rate of interest?

i dRR SR 1Y 9Y & 3id | U [T Haes W dehdia SaTS1 IR U R
B 19,800 ST 3R 21,384 3UY g, dl STo Bl G2 T 572

a) b
h)
C) %

d) «
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A metallic sphere of radius 2.1 cm is melted and reset into sphere ball of half
radius of origin sphere. How many such spherical balls can be made?

2.1 QW1 391 91d U o1d & Tl Dl {Uudrd:, Td Mid D STl 31 1 MidaR
i §4191 SI1dl g | Uy fohaH TR g &1 Ol Gabd o2

a)
b)
c)

0:45 ’
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The average age of 40 students of a class is 16 years. After the admission of 10
new students in the class, the average becomes 15 years. The average of the
ages of the new five students is 9 years. What is the average age (in years) of
the remaining five fresh students?

Uh D&l & 40 ST DI 3 31 16 94 5| Hal T 10 74 BHE| & Yd & dlq,

3 d 15 Y gl SIIdl g | Ui =8 SE[ D S{IId 31 9 9N g | QY Ujg 72 == =
I 311 (8 H) H1 8?2 a) .

b) -
c)
d)
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FYfRad sfies Ud Hratay & [N &3 H BRl & ardd SHAIRA] 1 I3 Dl
aid g1 QU U 3fihs @l dgald J1d DI

6, 10, 15, 13,12, 10, 6, 15, 12, 17,13, 12,6, 14,9, 12, 10

The following data represents the number of employees working in different
segments of an office. Find the mode of the given data:

6, 10, 15, 13, 12,10, 6, 15, 12,17, 13, 12, 6, 14, 9, 12, 10.

Q)

a)
b) ?
c) 3
d) >
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Find the area of the square whose diagonal is 85 cm.

39 91 BT AR J1d Dol ot fdwul 845 JHT §

a) )0 cm?
b) 50 cm?
C) 20 cm?

d) 50 cm?

HAS
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U ATIRI 319 IdTG WR 4 e I 40% deIh Hed 3ifdd HRdl o | ifdbd Hed
TR 10% BHHIE <dl o | ITDT UIdLd a1y J1d DI |

A dealer marks the price of an article 40% more than the cost price. He allows
10% commission, then find his profit percent.
a) 5%

b) )%
C) 3%
d)
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The perimeter of a rectangle is 44 cm and the area is 120 cm?. Find the length
of the rectangle. (length > breath)

wwﬂwwﬂrﬁmm T § 3R &A% d 120 JHI2 8, 3Td DI ddlg J1d Ditoiu |
GEIEEEEISIEY

a) >
b) >
c) 7

J

d)

HAS
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A train passes two persons moving at the speeds of 26 m/s and 42 m/s in the

opposite direction to that of the train in 9 sec and 7 sec respectively. The length
of the train is

UFH IS, 26 HIC/AD S 3R 42 HIeyADH S DI T I IAMS! DI [Au-Id fG=m d
Jdd gU al Alddd] dI HH: 9 Yhs R 7 Ybs H R Bl ¢ | TSl Pl ddls
1872

a) 04 Hiex
b) 49 Hiex
c) 7o
d) 434z
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A and B started a business by investing money in the ratio of 4 : 5. After 9
months C joined them by investing thrice the amount as A. At the end of the
year, a profit of Rs.14400 is earned. What will be share of B?

A SR B4 :5d 3Urd H ¢ 4% Hd Uh G U= [bA1| 9 HglH o dlG
C, A GRI A= @ 113 MR BT ¢l AT 9= HRb 34D A1y AT g3MT1 98 & 3{d
H, 14400 YU BT 1Y 3fford 41 T™T11 B & (34T a1 gI?

a) 0
b) 100
C) 00

d) 100
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RR ST # 9ra i 7fd 9 fobdt Uid der § IR 4RI &I 71id 3 fhwil ufd ger1 g1 4RI ot
fquRid fa=m & 12 fbdt gt T & ° J1a gIRT feran 11 90y {1d Siford |

The speed of boat in still water 9 kmph and speed of stream is 3 kmph. Find the
time taken by boat to cover 12 km upstream.

a) hours

b) hours
C) hours
d) hours

HAS
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A's 2 days work is equal to B's 3 days work. If B can complete the work in 12
days, In how many days A can complete the same work?

ADI2[GABTHE B & 3 a4l b Hf & kIR gl dfc B 1 Bl 12 fal § o1 d
Fbdl g, A Hbd 39 B DI [ e H IR DR Phdl g2

a) e
b) ofem
C) 2 fe
d) 5 fe

HAS
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What is the mode of the following distribution?

1,2,3,2,2,4,5,3,3,2,2,6
{9 faaRur &1 dgdsd 1 82

123224533226 a)

HAS
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9% ATftiep =TSl i YR X T U -RIRT U 18RI s97S 1800 ¥Ud ©| afe
gAY 5000 ¥Ud B, Al GHY IIHT1 DT J1d i |

The simple interest on a sum of money received at the fixed rate of 9% per
annum is Rs 1800. Find the time period if the Principal is Rs. 5000.

a) 25 years

b) years
C) years

d) years

HAS
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What will be the amount after 1 year on a sum of Rs. 32,000 at 20% per annum,
when the interest is compounded half yearly?

19y & d1c 32,000 3UT B A TR 20% Ul I8 i &3 I AR 791 gRft, 5d 1o
efarifes =g 3§ Iaiforg giar g2

a) 18720
b) 1862
C) 1672

0:4 5.
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The perimeter of the rectangular table cloth is 60 m. The length of the table
cloth is twice the breadth. How much area of the cloth required to cover such 5
tables?

Uh 3MIdIHR HSUI P URHATY 60 HieR o | AR &f (s, dIslg P Gl 6l
7?7

-,

U 5 Hull dl g & felU HUS & [dhd- &ABd Dl HGDHdl gHl
a) 50 9 HICX

b) o000 @i Hie

C) 50wt
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Find the sum of the length of the diagonals of a square with side 82 cm.

8\2 Ul & Yol o ol & (APl Dt cidls Bl T J1d Difor |

a) icm
b) .cm
C) 'cm
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If LCM of two numbers is 72 and their product is 864, then find their HCF.

gfc gl A1l &1 dUd JUMdddd 72 § HR 3] UHGB 864 ©, dl 34D
Hedd GHYddD J1d DI

a) 2
b)
C) 2
d) 4

HAS
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PHIod pal bl H H 70% 3 U DRl g HR 350 3D UId Bl ¢ | pd 3Ppi H
A 50% 3{h UId P ardl BT fbd- 3 Ul Dbl g2

Kajal secured 70% of the total marks and got 350 marks. How much should a
student with 50% of the total marks get?
a) 00

b) so
C) oo
d) o

HAS
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